12th Grade                                                 Answers ( Paper 2)                        24/12/2012 
Part One : Language 

Section A:
Q1: ( 5 Points )  1.b      2: c              3: d               4: d               5: c 

Q2: A: ( 3 Points )

1: What did he do ?     2: Does Ali work in Jerusalem ?    3: How long has she been reading ? 

B: ( 2 Points ) 

1: If I had been able to reach earlier , I could have watched my favorite program .

2: If the plan had been practical , they wouldn’t have refused it . 

Q3: ( 5 Points ) 1: to give    2: driving      3: to join        4: to get           5: asking 

Q4: A: ( 3 Points )

1: Today , the bank’s international operations are still being extended .
2: Goods were first exchanged many thousands of years ago . 

3: You are going to be given an overdraft facility . / An overdraft facility is going to be given to you .

B: ( 2 Points )

1: Could you bring me that magazine ?

2: Would you like her to call you ?

Q5: A: ( 3 Points )

1: Did you have to water the plants as it was rainy ?

2: Students mustn’t bring their mobiles to school ?

3: Should I apply for this job in English ?

B: ( 2 Points )
1: You could have finished the project last night .

2: You should have seen the doctor when the pain first started .

Section B:

Q1: ( 2 Points )

1: If my brother worked harder , he would be the best student in the whole school .

2: If my sister could choose any career she wanted , she would become a family doctor .

B: ( 3 Points ) 1: had               b. will be               3: had been 

Q2: ( 5 Points ) 1: have been working     2: had offered       3: am not listening       4: would help  

 5: wouldn’t have missed 

Q3: ( 5 points )  1: was able to         2: can’t              3: ought to           4: have to   5: shouldn’t  
_________________________________________________________________________________
Part Two : Literature 

Section A:

1: Choose the correct answer: ( 3× 1= 3 )    1: d            2: c           3: d 

2: True / False : ( 3× 1= 3 ) 1:  F               2: T           3: F 

3: Quotation : ( 2× 1= 2 )  1: The prisoner , to the banker     2: He decided to leave the two millions .

4: Complete : ( 2× 1= 2 )   1: decided to leave the prison five hours before the time fixed .
Section B: (5× 2 = 10  )

1: Because death penalty kills quickly but life imprisonment kills slowly .

2: because it was a loss of his money and the prisoner’s life . Also it didn’t prove anything .

3: Because wine excites the desires which are the worst foes of a prisoner and he didn’t want to drink alone . He refused tobacco because it spoilt the air of his room .

4: He kissed the prisoner on the head , left the lodge crying and came to despise himself .

5: He despised everything in life , left without claiming the two millions and  disappeared . 
